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FIRST SEMESTER B.A. DEGREE EXAMINATION, APRIL 2022
(NEP-OEC)
Economics
CONTEMPORARY INDIAN ECONOMY
Time : Two Hours * Maximum : 60 Marks

Attempt all three sections.
Section A should be answered continuously.
Provide relevant data wherever necessary.

Section A

Answer any five of the following questions in two or three sentences each.
Each question carries 2 marks.

Write the meaning of National Income.
Expand HDI.

Give the meaning of sustainable development.

What is the density of population of India as per 2011 census ?
State the meaning of labour force.
What is Balance of Payments ?
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(5 x 2 = 10 marks)
Section B

Answer any four questions.
Each question carries 5 marks.

7. “India is the fastest growing nation.” Substantiate.

8. Write a note on the role of MNC’s in India.

9. Examine the effects of rapid growth of population in India.
10. What are the different types of inflation ? Explain.
11. Explain the composition of foreign trade of India.

(4 x 5 = 20 marks)
Section C
Answer any three of the following questions.
Each question carries 10 marks.

12. Elucidate the concepts of National Income.

13. Explain the theory of demographic transition as applicable to India.
14. Discuss the recent measures to tackle poverty in India.
15: Whét is Fiscal deﬁcit ? Explain the effects of rise in Fiscal deficit.
(3 x 10 = 30 marks)
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